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1 Abdul Rehman I was youth of exceptional nerve and ability.
A. Special
B. Unusual
C. Uncommon
D. High-class

2 The Abbasids got engaged in the ruthless extermination of the Umayyads.
A. Killing
B. Removal
C. Dismissed
D. Turning out

3 The Abbasids got engaged in the ruthless extermination of the Umayyads.
A. Uncontrolled
B. Direct
C. Cruel
D. Continous

4 The accession of the Abbasids was signalizedby their action against the Umayyads.
A. Made prominent
B. Made important
C. Made meaningful
D. Made effective

5 Hitti talked about the accession of the Abbasids to the calipahte.
A. Entering on
B. Passage of
C. Movement of
D. Approach of

6 In 750 , the Umayyed dynasty (rulling family) in Damuscus was overthrown by the Abbasid
family.

A. Replaced
B. Defeated and replaced
C. Defeated
D. Thrown out

7 The study of the population growth indicates the greatest paradox of our times.
A. Puzzle
B. Confusion
C. Problem
D. Pain

8 Many countries have carried out massive programmes against yaws.
A. Extensive
B. Great
C. Heavy
D. Large

9 The sufferer of yaws becomes depressed and fills ill.
A. Overjoyed
B. Glad
C. Unhappy
D. Gloomy

10 In yaws muscles are destroyed and bones are deformed.
A. Made ugly
B. Spoilt
C. Misshaped
D. Twisted

11 The disease of yaws starts as little hard pimples which develop into blotches.
A. Discolored patches
B. Pimples
C. Red spots
D. Yellow spots

12 Death rate has been reduced by epidemic control.
A. Widespread disease
B. National disease
C. Local disease
D. Common disease

13 A tremendous population explosion is taking place.
A. Rapid population increase
B. Population rise
C. Expansion of population
D. Population overflow

14 A tremendous population explosion is taking place.

A. Too dangrous

B. Great
C. Sudden
D. Shocking

15 The world population has gradually increased.
A. At intervals
B. Slowly
C. In stages
D. From time to time



16 The number of the of the people are increasing like a gigantic snowball.
A. Dangerous
B. Like a giant
C. Very big
D. Very heavy

17 The food could not be distributed to the isolated areas.
A. Cut-off
B. Distant
C. Farthest
D. Ionely

18 The ports could not cope with all the ships bringing the cargoes.
A. Trade items
B. Goods
C. Loads
D. Weights

19 Robbin Hood was often engaged in poaching for the poor in the royal forests.
A. Hunting
B. Hunting illegally
C. Robbing
D. Working

20 Robbin Hood robed the rich to feed the poor.
A. Give help to
B. Give food to
C. Entertain
D. Satisfy


